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wjebA 2°9] Al —4, Aedke 5o|Bng 1 gk
—4+5=1 B0
242 @ 2x0|B 2 yofl thglk U4
® —2x°+ 10|22 o ot o]2}4] EONO)
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=Tx—4y+4
B —dx—y Q) T7x—4y+4

254 old A& Azt sid
A—(2*—3x+2)=—32"+6x—3
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Sa—b=2—Fk)—(—Fk)=2

@

®

347 AR MR HolE ax+ble, b= ohd
@A) Wo) = (52+2) (ax+b)

=5ax’+ (5b+2a)x+2b
=15x"+kx—10

Z 54=15, 2b=—100|2% ¢=3, b=—5

. k=5b+2a=5%x(—5)+2x3=—19 B

348 (3x—|—a)<x+%)=33cz+(1+a)x+%a

9] AGE 452 6ol oz

1+a=%a><6,1+a:2a Coa=1 B1

349 @ (y+5)(y—3)=y*+2y—15 EH o)

350 oA A)=3(z*—6x+9)—2(z’—2x—8)
=3x*—18x+27—2x"+4x+16
=x'—14x+43 B’ —14x+43

351 @ (2x—6)*=4x"—24x+36
@ (—4x—3)°=162"+24x+9
® (52—1) (5x+3)=252"+10x—3
@ (6x—1)(7Tx+4)=422"+17x—4
® (3x+4) (2x+4)=62"+20x+16
whebs] 2 o] A7 71 2 A2 @e] o EHE)
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=202"—dxy— 3y
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=2'+62+9—2"+9
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356 (a—b)’=a*—2ab+b’ =)
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=ab—(b—a)'—a’
=ab— (b°—2ab+d’) —a’
=ab—b'+2ab—a’—a’
=—2a"+3ab—0b" EHE)
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369 2x+y=A= A3lstHd
(22+y—3)"=(A—3)’=A"—6A+9
=2x+y)*—6(2x+y)+9
=4x"+H4xy+y —120—6y+9
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=11 EHO)
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406 (2x+y) @ (2x—y)=3: 2014
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407 +=50 EL =5 aty=say
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:%ow 6x=3y ..y=2zr
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129 AyeterEe) ol L (a+b) xh="CE o)

Az o] Yol abolet,
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430 9] Hol=—1x 3ax 2b=3ab Be_2a..
1 22 ®
@2] ol L x2axb=ab \
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E, S:%ab%aoﬂ tjsto] £ 2S=13ab .'.a:%
3., 25
B S=75ab, a=—3p
431 S=(x—2)y=xy—yz°lA
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